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1.4  Project plan

1.5 Configuration management plan

& DSAIABI(PTS : Public Transportation System)2| program source code
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2 unit
testE Tt test codes Cygwin EZHO0|A O|F0{X|H, program source code % test
codel| HE 8 £ A2 XEHo=Z LD testE Ch

1.6 References
(dde 2010) e, MsA "USItE FOIEN/EHI| 8 2FAIAH JHL" #E
AFHIBREZHE 15(3), 99-109, 2010
(484, 2009) d8M, "WSItE A2 Aty Ht-=EdH WSItE S 2@ W
s &, 2009
T1_2014_SRA_3.0V
T1_2014_SDS_2.0V
2 Test items
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(1) Overall of Terminal System modules — T1_2014_SRA_3.0V &=
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(2) Overall of Settlement System modules — T1_2014_SRA_3.0V &X
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3 Features to be tested
(1) Process in SRA : Zt ZZM|AT} 7HX| 10
1. Terminal System

2. Settlement System
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(2) Modules in SDS : Zt 20| 7tX|11 & H|O|H QUEL|O[AE testDHCL.

1. Terminal System(<Table 1H|AE2 Process(DFD) 2|AE>2| Process name

Ut RTMEES USTE XF testsich
M)

2. Settlement System(<Table 2E|AE g Process(DFD) 2|AE>2| Process name &X)
<Table 1 H|AEZ Process(DFD) Z|AE >
ID Name Description
21.1.1 | Caleulator Selector Card datd2} Terminal DataE 2X3HM Zt&Tt ProcessE MEHSHCE
HAO B&5dte 29 5 712232 AMSt= ProcessZ Calculated Data
21.1.2 | Cal_Bus_On_Standard o sois
= §_|°_|'|:|'.
HAO EScste 42 & &5ste ERE AMSHE ProcessZ Calculated
2.1.1.3
Cal_Bus_On_Transfer DataZ Z23IC}
HAO E&dtes 42 & 084 238 AHMSH= Process® Calculated
2.1.1.4 | Cal_Bus_On_Unchecked o ey
DataE £Z3tC}
XSHEo| EBH&dte 22 & 72232 ALSHE Process2 Calculated
2115
Cal_Metro_On_Standard DataZ Z23iC}
i XstEo| EEdte 49 T o8t ERE  AMSHE  Process2
21.1.6 | Cal_Metro_On_Transfer .
- - Calculated Data® ZE3IC}
XSHEo| &t 82 & 084 232 AHLHSHs Process2 Caclulated
2117
Cal_Metro_On_Unchecked DataZ Z2{3iC}
HAON SiXtstes 22 § 712832 A= Process2 Calculated
21.1.8 | Cal_Bus_Off Standard o min
DataS Z£=%HCt.
HAOM Sixtsle 42 5 o&ste 422 AMSHE  ProcessZ2
2119 | Cal_Bus_Off Transfer B
- Calculated DataZ Z23tC}
XstEoN oAt 42 T 72232 AMShE Process® Calculated
2.1.1.10 | Cal_Metro_Off Standard o ey
DataE £ZotC}
XstEoN Stitste 22 T 2Ests dRE ALSeE  Process2
2.1.1.11 | Cal_Metro_Off_Transfer +
- - Calculated DataS Z2TtC}.
212 Controller Calculated DataE 20} B850} =Z40] St ProcessE HAA|ZICE
213 Check Settlement SHE7b BLH Z2AM A7 AME|H, Reset Accept Data= M &3}0]
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Terminal 7|2} O|F O|O|E{E CHECL

Calculated Balance >= 0¥ M T2 M AT} HAHE|H, Terminal®fl Carde| Z

214 i
Terminal Record M MBS MESs HO|EE CHECt

Card Data®l| InputO] S22 422 Calculated Balance >= 0¥ [If ==

2.1.6 i
Print Result MA7ZF AshE|n], Cio|o| @3 Kejo| mA|SICH

Card Data®| InputO| S0{2E &Ll Calculated Balance < 0 [ =2

217 Print Warnin
rint Warning MA7h ASE|n], SH7|of ES 27} HAIXIS BASICH

Card Datall InputO] 022 Z<22t Calculated Balance >= 0¢ If =2

2.1.8
Check Card MA7ZE ME0] Cardel ZH HEE MESIE HO|HE CiaCt

<Table 2 EH|AEZ Process(DFD) Z|AE >

ID Name Description

27 BLD A, B0l 00000 E O Wait2 Disabledt
2.1 Time_Checker Settlement_Starting_ProcessE Trigger®tCh. Triggerst & CHS TickOf Al CHA|

Wait2 Enable$tCt.

Enable &Ef A|l Hold GIO|E{(True)E Bus Company Interface, Metro

2.2 Wait

Company Interface2 T™&otCt

Al, 0] 00000|2t= Z=0| BREY Z2MATE LT Extracted Data
2.3 Settlement_Starting_Process | = Ol&3Hl Settled Bus Fee, Settled Metro FeeH|O|E|E 208 = ZtZt Bus

Company Interface, Metro Company Interface2 & 3tCt,

4 Features not to be tested
(1) Process in SRA : 2|5 FX| E2t0[H, The HOJH TE ZEZM2A S2 testO|Al X 2ottt
3. Terminal System
4. Settlement System
(2) Modules in SDS
1. Terminal System(<Table 3 HIAESIX| %2 Process(DFD) 2|AE>2| Process name & X)
2. Settlement System(<Table 4 H|AESIX| QfZ Process(DFD) 2|AE>2| Process name &X)

<Table 3 HIAESHK| %& Process(DFD) Z|AE>

ID Name Description
1.1 Card Data Interface Terminal Sensori—'?'—E'I %% ol'lél'i:l Al_l_?.?:% E|X|% A._'E-EE E—‘J.Zj‘do.j'l:l'
1.2 Card Data UHA2 Data T ELRP OO|EEHES FE5I0] M&TCt
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215 Wait Card Data2| InputO| 8l 4% B0 tHY| HEfE HAlSH ZCL

Reset Accept DataE ZOf Terminal0i ZLHO| Terminal DataE ZX7|2tA|Z
2.2

Settlement Interface x| AT

2.3 Terminal Data Interface Terminaloﬂ ‘%‘72‘ 7E:’x'” 7|%% 7{178'5}'” ‘(Ij'lJo_H Recorded Data% }g“g?ﬂ'[l'
24 Card Data Interface Updated Card DataZ 20} Card YEE Update Al7|= JEE EiCt
2.5 Hardware Interface Dlsplay Data% l:||:|‘o|' LED §|'I:'|_:|O" 33—135 D|Sp|ay gE% EIT_HE|'

Company TerminatorOf|A] Settlement DataE O} Settlement StatusE
2.6 Company Interface .

pany FM.S Process2 &SIC}

Terminal Information® Data Storage25E{ 20} Terminal DataE FM.S
2.7 Terminal Interface L

Process2 & ¢t

<Table 4 HIZESIX| Q42 Process(DFD) 2|2 E>
ID Name Description
i Y= E N JIZ2L2 HIQIA ZIAEZ Ot

11 Data_Interface Terrrjnal()ﬂ e BE £X J|ES HIOIN Eonverted data2|~EE T

£ Z Converted Data2|~EE Provider2 T &3t}

Converted Data2| 2EO0| M F4to| Zast HO|E T FEHM
1.2 Provider N

Exracted Data2| ~AES THE0{ Settlement Starting Process2 7 2ot}
24 Bus_Company_“qterface HOldEilolE‘lgl' Settled_FeeE||0|E‘|§ l:|I:|'0|' Final Bus Data% Klj%-én-_l'l:l'
2.5 Metro_Company_mterface HOldE"O|E'|9|' Settled_FeeE||0|E1% l:||:"o}' Final Metro Data% ﬁg_an__l'l:l'

5 Approach
CHE W -SA|ABI(PTS : Public Transportation System)2| Program source code % unit testE 9

6

¢t test code= CygwinZtZ 0| O|FO{X|04, program source code/test codel| #H& 5l

ApSt2

O -

Item pass/fail criteria

Functional test pass/fail criteria : Z

A
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ANEH2 SYED testE L}
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7 Unit test design specification

7.1 Test design specification identifier

TEAM1_PTS_0_000_000

7.2 Features to be tested

<Table 1: HIAEE Process (DFD) Z|AE> i =X

<Table 2 : HHIAEZ Process (DFD) Z2|AE> &

7.3 Approach refinements

TEAM19| Zt B EO| QFAISS OHES}

712r5t0] test codeE Afgettt. 1 0[2lo] 0|2 &0 Ci3iA= test codeS

o}

LS

C}.

rir

74 Test identification

P

<Table 5 : Test Design Identification>
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K& =Qlot7| fl5tt, 2FArgo| FelE WEo

g5t

Identifier

Feature(Process DFD)

Valid / Invalid value

TEAM1_PTS_0_000_000

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001014211,B,1,966900,0_30
200001014311,B,0,966900,0_31
Terminal_Data_Input : 200001014211,8,1,0,0_30
200001014311,8,0,0,0_31

TEAM1_PTS_0_000_001

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001015011,8,1,963750,0_36
200001015111,B,0,963750,0_37

Terminal_Data Input : 200001015011,B,1,1050,0_36
200001015111,80,00_37

TEAM1_PTS_0_000_002

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001011111,T,0983200,0_8
200001011111,T,1,982150,0.9

Terminal_Data Input : 200001010411,8,0,0,0_46
200001010511,M1,0,1_63

TEAM1_PTS_0_000_003

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001014611,B,0,966900,0_31
200001014711,B,1,965850,0_32

Terminal_Data Input : 200001014611,B,0,0,0_31
200001014711,B,1,1050,0_32

TEAM1_PTS_0_000_004

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001015111,8,0,963750,0_37
200001015211,B,1,962700,0_38
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Terminal_Data Input : 200001015111,8,0,0,0_37
200001015211,B,1,1050,0_38

TEAM1_PTS_0_000_005

2.1.1.11

Calculator Selector

Card_Data Input : 200001015211,8,1,962700,0_38
200001015311,B,0,962700,0_39

Terminal_Data Input : 200001015211,8,1,1050,0_38
200001015311,8,0,00_39

TEAM1_PTS_0_000_006

2.1.1.11

Calculator Selector

Card_Data Input : 200001010011,B,1,959300,0_43
200001010111,B,0,959300,0_44

Terminal_Data Input : 200001010011,8,1,0,0.43
200001010111,80,00.44

TEAM1_PTS_0_000_007

2.1.1.141

Calculator Selector

Card_Data Input : 200001015511,8,0,961400,0_42
200001015611,M,1,961400,1_56

Terminal_Data Input : 200001015611,8,0,0,0_42
200001015711,M0,0,1_57

TEAM1_PTS_0_000_008

2.1.1.141

Calculator Selector

Card_Data Input : 200001010411,8,0,958600,0_46
200001010511,M,1,958600,1_63

Terminal_Data Input : 200001010411,8,0,0,0_46
200001010511,M1,0,1_63

TEAM1_PTS_0_000_009

2.1.1.11

Calculator Selector

Card_Data Input : 200001010911,M,1,956850,1_66
200001011011,M,0,956850,1_67

Terminal_Data Input : 200001010911,M1,0,1_66
200001011011,M0,0,1_67

TEAM1_PTS_0_000_010

2.1.1.11

Calculator Selector

Card_Data Input : 200001011211,M,1,955800,1_68
200001011311,M,0,955200,3 1

Terminal_Data Input : 200001011211,M1,0,1_68
200001011311,M,0,600,3_1

TEAM1_PTS_0_000_011

2.1.1.141

Calculator Selector

Card_Data Input : 200001011011,M,0,956850,1_67
200001011111,B,1,956850,0_53

Terminal_Data Input : 200001011011,M0,0,1_67
200001011111,B,1,00.53

TEAM1_PTS_0_000_012

2.1.1.11

Calculator Selector

Card_Data Input : 200001011311,M,0,955200,3_1
200001011411,B,1,955200,0_57

Terminal_Data Input : 200001011311,M0,600,3_1
200001011411,8,1,00_57

TEAM1_PTS_0_000_013

2.1.1.141

Calculator Selector

Card_Data Input : 200001011511,M,1,955200,1_69
200001011611,M,0,955200,1_70

Terminal_Data Input : 200001011511,M1,0,1_69
200001011611,M0,0,1_70

TEAM1_PTS_0_000_014

2.1.1.141

Calculator Selector

Card_Data Input : 200001011511,M,1,954150,1_71
200001011711,M0,954149,2 2

13
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Terminal_Data Input : 200001011511,M1,1050,1_71
200001011711,M0,1,2 2

TEAM1_PTS_0_000_015

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M0,9525004 2
200001013111,M1,951450,1_74

Terminal_Data Input : 200001012111,M0,600,4 2
200001013111,M1,1050,1_74

TEAM1_PTS_0_000_016

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001014111,M,0,950850,4_3
200001015111,M,1,949800,1_75

Terminal_Data Input : 200001014111,M0,6004_3
200001015111,M1,1050,1_75

TEAM1_PTS_0_000_017

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M,0,949600,2_2
200001012211,M1,948550,2_3

Terminal_Data Input : 200001012111,M0,200,2_2
200001012211,M1,1050,2_3

TEAM1_PTS_0_000_018

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,B,1,947850,0_59
200001012211,M1,947250,1_76

Terminal_Data Input : 200001012111,B,1,700,0_59
200001012211,M1,600,1_76

TEAM1_PTS_0_000_019

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M,1,948550,2_3
200001012111,B,1,947850,0 59

Terminal_Data Input : 200001012111,M1,1050,2_3
200001012111,8,1,700,0_59

TEAM1_PTS_0_000_020

2.1.1.1.1 Calculator Selector

Card_Data Input : 200001012111,M,1,947250,1_76
200001015111,B,1,946550,0_60

Terminal_Data Input : 200001012111,M1,600,1_76
200001015111,B,1,700,0_60

TEAM1_PTS_0_001_000

2.1.1.2 Cal_Bus_On_Standard

Data Input : ecdonboard = O, ecdbalance = 10000,
ecd.Terminal_ID = 0, ecdtimel = 200001011115, ecdtime2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5, etd.transportation
=B, etdTerminal_ID = 0, etd.count = 1

TEAM1_PTS_0_001_001

2.1.1.2 Cal_Bus_On_Standard

Data Input : ecdonboard = 0, ecdbalance = 10000,
ecd.Terminal_ID = 0, ecdtimel = 200001011115, ecdtime2 =
200001011111, ecd.c_time = 201002011530, ecd,transportation
= B, ecdtransportation1 = B, ecd.count = 5, etd.transportation

=B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_002_000

2.1.1.3 Cal_Bus_On_Transfer

Data Input : ecdonboard = 0 ecdbalance = 8000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportaton? = M ecdcount = 4,

14
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etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdon_board = 0, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecdtime2 =
TEAM1_PTS_0_003_000 | 2.1.1.4 Cal_Bus_On_Unchecked 200001011111, ecd.c_time = 200001021530, ecd transportation
= B, ecd.transportation1 = M ecd.count = 5, etd.transportation
= B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdonboard = 0, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecdtime2 =
TEAM1_PTS_0_003_001 2.1.1.4 Cal_Bus_On_Unchecked 200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportaton = M ecdcount = 5

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdon_board = 0 ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecdtime2 =
TEAM1_PTS_0_004_000 | 2.1.1.5 Cal_Metro_On_Standard 200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportationl = M ecdcount = 5

etd.transportation = M, etd.Terminal_ID = 1, etd.count = 1

Data Input : ecdon_board = 0, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
TEAM1_PTS_0_005_000 | 2.1.1.6 Cal_Metro_On_Transfer 200001011111, ecd.c_time = 200001011530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5, etd.transportation

=M, etd.Terminal_ID = 1, etd.count = 1

Data Input : ecdonboard = O, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecd.time2 =
TEAM1_PTS_0_006_000 | 2.1.1.7 Cal_Metro_On_Unchecked | 200001011111, ecd.c_time = 200001021530, ecdtransportation
= B, ecdtransportation1 = B, ecd.count = 5, etd.transportation

=M etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdonboard = O, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001011115, ecdtime2 =
TEAM1_PTS_0_006_001 2.1.1.7 Cal_Metro_On_Unchecked | 200001011111, ecd.c_time = 200001011530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5, etd.transportation
=M etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 0, ecdtimel = 200001011115, ecdtime2 =
TEAM1_PTS_0_007_000 2.1.1.8 Cal_Bus_Off_Standard 200001011111, ecd.c_time = 200001011530, ecd,transportation
= B, ecdtransportation1 = M, ecd.count = 5, etd.transportation
=B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdon_board = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010100, ecd.time2 =
TEAM1_PTS_0_008_000 | 2.1.1.9 Cal_Bus_Off Transfer . )
200001010000, ecd.c_time = 200001012359, ecd transportation

= B, ecdtransportation1 = M ecd.count = 5, etd.transportation
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=B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdon_board = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010400, ecd.time2 =
TEAM1_PTS_0_008_001 2.1.1.9 Cal_Bus_Off Transfer 200001010000, ecd.c_time = 200001012359, ecd transportation
= B, ecd.transportation1 = M ecd.count = 5, etd.transportation

= B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010800, ecd.time2 =
TEAM1_PTS_0_008_002 | 2.1.1.9 Cal_Bus_Off Transfer 200001010000, ecd.c_time = 200001012359, ecd transportation
= B, ecdtransportation1 = M ecd.count = 5, etd.transportation
=B, etdTerminal_ID = 0, etd.count = 1

Data Input : ecdon_board = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001012300, ecdtime2 =
TEAM1_PTS_0_008_003 | 2.1.1.9 Cal_Bus_Off Transfer 200001010000, ecd.c_time = 200001012359, ecd transportation
= B, ecdtransportation1 = M, ecd.count = 5, etd.transportation

= B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdon_board = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecdtimel = 200001011115, ecd.time2 =
TEAM1_PTS_0_009_000 | 2.1.1.10 Cal_Metro_Off Standard 200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportaton = M ecdcount = 5

etd.transportation = M, etd.Terminal_ID = 3, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecdtimel = 200001011115, ecd.time2 =
TEAM1_PTS_0_009_001 2.1.1.10 Cal_Metro_Off Standard | 200001011111, ecd.c_time = 200001011530, ecd transportation
= M ecdtransportaton = M ecdcount = 5

etd.transportation = M, etd.Terminal_ID = 2, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecdtimel = 200001011115, ecdtime2 =
TEAM1_PTS_0_009_002 2.1.1.10 Cal_Metro_Off_Standard 200001011111, ecd.c_time = 200001011530, ecd,transportation
= M ecdtransportationl = M ecdcount = 5

etd.transportation = M, etd.Terminal_ID = 1, etd.count = 1

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 1, ecdtimel = 200001010100, ecdtime2 =
TEAM1_PTS_0_010_000 | 2.1.1.11 Cal_Metro_Off Transfer 200001010000, ecd.c_time = 200001012359, ecd,transportation
= M ecd.transportation1 = B, ecd.count = 5, etd.transportation
=B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecdon_board = 1, ecdbalance = 10000,
ecd.Terminal_ID = 2, ecdtimel = 200001010100, ecd.time2 =
TEAM1_PTS_0_010_001 | 2.1.1.11 Cal_Metro_Off Transfer . )
200001010000, ecd.c_time = 200001012359, ecd transportation

=M, ecd transportation1 = B, ecd.count = 5, etd.transportation
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=B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_010_002

2.1.1.11 Cal_Metro_Off_Transfer

Data Input : ecdon_board = 1, ecdbalance = 10000,
ecd.Terminal_ID = 3, ecdtimel = 200001010100, ecd.time2 =
200001010000, ecd.c_time = 200001012359, ecd transportation
=M, ecdtransportation1 = B, ecd.count = 5, etd.transportation

= B, etd.Terminal_ID = 0, etd.count = 1

TEAM1_PTS_0_010_003

2.1.1.11 Cal_Metro_Off_Transfer

Data Input : ecdonboard = 1, ecdbalance = 10000,
ecd.Terminal_ID = 4, ecdtimel = 200001010100, ecdtime2 =
200001010000, ecd.c_time = 200001012359, ecd transportation
= M, ecdtransportation1 = B, ecd.count = 5, etd.transportation
=B, etdTerminal_ID = 0, etd.count = 1

TEAM1_PTS_0_011_000

2.1.2 Controller

Data Input : hour == 0 && minute == 0

TEAM1_PTS_0_011_001

2.1.2 Controller

Data Input : hour == 0 && minute != 0

TEAM1_PTS_0_011_002

2.1.2 Controller

Data Input : hour != 0 && minute ==

TEAM1_PTS_0_011_003

2.1.2 Controller

Data Input : hour != 0 && minute != 0

TEAM1_PTS_0_011_004

2.1.2 Controller

Data Input : cd.Calculated_Balance = 3000

TEAM1_PTS_0_011_005

2.1.2 Controller

Data Input : cd.Calculated_Balance = -1000

TEAM1_PTS_0_012_000

2.1.3 Check Settlement

[

Data Input : G4 2t2 E(QUCH= oY EXY

TEAM1_PTS_0_012_001

2.1.3 Check Settlement

Data Input : ‘G4t 22 E(QUCte OtY EXSHX| RS

TEAM1_PTS_0_013_000

2.1.4 Terminal Record

Data Input cd.time = 201411210500,
cd.transportation = B, cd.on_board = 1, cd.fee = 500,

cd.Terminal_ID = 0, cd.count = 2

TEAM1_PTS_0_013_001

2.1.4 Terminal Record

Data Input cd.time = 201411210530,
cd.transportation = M, cd.on_board = 0, cd.fee = 500,

cd.Terminal_ID = 3, cd.count = 1

TEAM1_PTS_0_014_000

2.1.6 Print Result

Data Input : cd.fee = 100, cd.Calculated_Balance = 500

TEAM1_PTS_0_014_001

2.1.6 Print Result

Data Input : cd.fee = 200, cd.Calculated_Balance = -100

TEAM1_PTS_0_015_000

2.1.7 Print Warning

Data Input : cd.fee = 250, cd.Calculated_Balance = 400

TEAM1_PTS_0_015_001

2.1.7 Print Warning

Data Input : cd.fee = 300, cd.Calculated_Balance = -200

TEAM1_PTS_0_016_000

2.1.8 Check Card

Data Input : cd.fee = 700, cd.Calculated_Balance = 0

TEAM1_PTS_0_016_001

2.1.8 Check Card

Data Input : cd.fee = 150, cd.Calculated_Balance = -50

TEAM1_PTS_1_.000_000 | 2.1 Time_Checker time = “201411200000" Input
TEAMT_PTS_1_000_00T | 2.1 Time_Checker time = “201411200100" Input
TEAMT_PTS_1_000_002 | 2.1 Time_Checker time = “201411200008" Input
TEAMT_PTS_1_000_003 | 2.1 Time_Checker time = “201411200108" Input

TEAM1_PTS_1_001_000

2.2 Wait

Enable Input
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TEAMT_PTS_1_001.00T | 2.2 Wait Disable Input

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200600, B, 1, 1050
201411200800, B, 0, 0 } Input

TEAM1_PTS_1_.002_000 | 23 Settlement_Starting_Process

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300} Input

TEAMT_PTS_1.002_.00T | 23 Settlement_Starting_Process

trigger ,

Stack ED={

201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0
201411201448, B, 0, 200} Input

TEAMT_PTS_1.002.002 | 23 Settlement_Starting_Process

trigger ,

Stack ED={ 201411200016, M, 1, 1050
201411200040, M, 0, 200
201411200232, B, 1, 0
TEAM1_PTS_1.002_003 | 23 Settlement_Starting_Process 201411201224, B, 0, 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0

201411201824, B, 0, 200} Input

trigger ,

Stack ED={

201411200016, B, 1, 1050
201411200216, B, 0,0
201411200616, B, 1, 1050
201411200624, B, 0, 0
201411200632, B, 1, 1050
201411200640, B, 0, 0} Input

TEAM1_PTS_1_002_004 | 23 Settlement_Starting_Process

trigger ,

Stack ED={

201411200016, M, 1, 1050
201411200216, M, 0 ,0
201411200616, M, 1, 1050
201411200624, M, 0, 0
201411200632, M, 1, 1050
201411200640, M, 0, O} Input

TEAM1_PTS_1_.002_005 | 23 Settlement_Starting_Process

TEAMT_PTS_1_002_.006 | 23 Settlement_Starting_Process trigger ,
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Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0} Input

TEAM1_PTS_1_002_007

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, O} Input

TEAM1_PTS_1_002_008

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411200016, M, 1, 1050
201411200040, M, 0, 200
201411200232, B, 1,0
201411201224, B, 0 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0} Input

TEAM1_PTS_1_002_009

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, B, 0, O} Input

TEAM1_PTS_1_002_010

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, M, 0, 0} Input

TEAM1_PTS_1_002_011

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, B, 1, 1750
201411201050, B, 0, 0 } Input

TEAM1_PTS_1_002_012

2.3 Settlement_Starting_Process

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, B, 0, 0
201411201050, M, 1, 0
201411201058, M, 0, 300} Input

TEAM1_PTS_1_002_013

2.3 Settlement_Starting_Process

trigger ,

Stack ED={
201411201010, M, 1, 1050
201411201020, B, 1, 1750
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201411201030, M, 1, 1750
201411201040, M, 0, 300
201411201100, B, 1, 0
201411201130, B, 0, O} Input

trigger ,

Stack ED={

201411201000, M, 1, 1050
201411201030, M, 0, 400
201411201100, B, 1, 0
201411201200, M, 1, 1750} Input

TEAM1_PTS_1.002_ 014 | 23 Settlement_Starting_Process

7.5 Feature pass/fail criteria

£|% B0 Chsl W9 Ol4ol Znt WS olstel ZS B AsjED, 1 Fle &
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8 Unit test case specification
8.1 Test case specification identifier

<Table 6 : Test Case |dentification>

0%

-

=2

>

Test case Identifier Input Specification Output Specification
Card _Data Input :
200001014211,B,1,966900,0_30
TEAM1_PTS_0_000_000 | 200001014311,8,0,966900,0 31 Cal_Bus_On_Standard() A&

Terminal_Data_Input : 200001014211,B,1,0,0_30
200001014311,8,0,0,0_31

Card_Data Input :
200001015011,B,1,963750,0_36
200001015111,B,0,963750,0_37
TEAM1_PTS_0_000_001 . Cal_Bus_On_Standard() &%
Terminal_Data Input :
200001015011,B,1,1050,0_36

200001015111,8,0,00_37

Card_Data Input : 200001011111,T,0,983200,0_8
200001011111,T,1,982150,0_9

TEAM1_PTS_0_000_002 ot st AMGHE|X| AUAS
Terminal_Data Input : 200001010411,B,0,0,0_46

200001010511,M1,0,1_63

Card_Data Input :
TEAM1_PTS_0_000_003 | 200001014611,8,0,966900,0 31 Cal_Bus_Off Standard() &%
200001014711,B,1,965850,0_32
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Terminal_Data Input : 200001014611,8,0,0,0_31
200001014711,8,1,1050,0_32

TEAM1_PTS_0_000_004

Card _Data Input :
200001015111,B,0,963750,0_37
200001015211,B,1,962700,0_38

Terminal_Data Input : 200001015111,8,0,0,0_37
200001015211,B,1,1050,0_38

Cal_Bus_Off Standard() &

SH
=)

TEAM1_PTS_0_000_005

Card_Data Input :
200001015211,B,1,962700,0_38
200001015311,B,0,962700,0_39
Terminal_Data Input :
200001015211,B,1,1050,0_38
200001015311,8,0,00_39

Cal_Metro_On_transfer()

>
0%

TEAM1_PTS_0_000_006

Card_Data Input :
200001010011,B,1,959300,0_43
200001010111,B,0,959300,0_44

Terminal_Data Input : 200001010011,B,1,0,0_43
200001010111,8,0,00 44

Cal_Metro_On_transfer()

>
0%

TEAM1_PTS_0_000_007

Card_Data Input :
200001015511,B,0,961400,0_42
200001015611,M,1,961400,1_56

Terminal_Data Input : 200001015611,B,0,0,0_42
200001015711,M0,0,1_57

Cal_Metro_Off_transfer()

nx
o

TEAM1_PTS_0_000_008

Card_Data Input :
200001010411,8,0,958600,0 46
200001010511,M,1,958600,1_63

Terminal_Data Input : 200001010411,B,0,0,0_46
200001010511,M,1,0,1_63

Cal_Metro_Off_transfer()

uz
ogt

TEAM1_PTS_0_000_009

Card_Data Input :
200001010911,M,1,956850,1_66
200001011011,M,0,956850,1_67

Terminal_Data Input : 200001010911,M1,0,1_66
200001011011,M0,0,1_67

Cal_Bus_On_transfer() A

.
=]
A

TEAM1_PTS_0_000_010

Card Data Input :
200001011211,M,1,955800,1_68
200001011311,M,0,955200,3_1

Terminal_Data Input : 200001011211,M1,0,1_68
200001011311,M0,600,3_1

Cal_Bus_On_transfer() A

SH
=}

TEAM1_PTS_0_000_011

Card_Data Input :
200001011011,M,0,956850,1_67

Cal_Bus_Off transfer() &

i
S
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200001011111,B,1,956850,0_53
Terminal_Data Input : 200001011011,M0,0,1_67
200001011111,B8,1,0,0 53

TEAM1_PTS_0_000_012

Card _Data Input :
200001011311,M,0,955200,3_1
200001011411,B,1,955200,0 57
Terminal_Data Input :
200001011311,M,0,600,3_1
200001011411,8,1,00. 57

Cal_Bus_Off transfer() &34

TEAM1_PTS_0_000_013

Card Data Input :
200001011511,M,1,955200,1_69
200001011611,M,0,955200,1_70

Terminal_Data Input : 200001011511,M1,0,1_69
200001011611,M0,0,1_70

Cal_Metro_On_Standard() i3

TEAM1_PTS_0_000_014

Card Data Input :
200001011511,M1,954150,1_71
200001011711,M0,954149,2 2
Terminal_Data Input :
200001011511,M1,1050,1_71
200001011711,M0,1,2_2

Cal_Metro_On_Standard() &¥

TEAM1_PTS_0_000_015

Card Data Input :
200001012111,M,0,9525004 2
200001013111,M,1,951450,1_74
Terminal_Data Input :
200001012111,M0,6004_2
200001013111,M,1,1050,1_74

Cal_Metro_Off _Standard() A3

TEAM1_PTS_0_000_016

Card Data Input :
200001014111,M,0,9508504_3
200001015111,M,1,949800,1_75
Terminal_Data Input :
200001014111,M,0,6004_3
200001015111,M,1,1050,1_75

Cal_Metro_Off _Standard() A3

TEAM1_PTS_0_000_017

Card Data Input :
200001012111,M,0,949600,2_2
200001012211,M,1,948550,2_3
Terminal_Data Input :
200001012111,M,0,200,2_2
200001012211,M,1,10502_3

Cal_Bus_On_Unchecked() A&

TEAM1_PTS_0_000_018

Card_Data Input :
200001012111,B,1,947850,0_59

Cal_Bus_On_Unchecked() A&
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200001012211,M,1,947250,1_76
Terminal_Data Input :
200001012111,B,1,700,0_59
200001012211,M1,600,1_76

TEAM1_PTS_0_000_019

Card_Data Input :
200001012111,M,1,948550,2 3
200001012111,B,1,947850,0_59
Terminal_Data Input :
200001012111,M1,1050,2_3
200001012111,B,1,700,0_59

Cal_Metro_On_Unchecked() &¥

TEAM1_PTS_0_000_020

Card_Data Input :
200001012111,M,1,947250,1_76
200001015111,B,1,946550,0 60
Terminal_Data Input :
200001012111,M,1,600,1_76
200001015111,B,1,700,0_60

Cal_Metro_On_Unchecked() &¥4

TEAM1_PTS_0_001_000

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID = 0, ecdtimel =
200001011111, 200001011115,
ecd.c_time = 200001011530, ecd,transportation

ecdtime2 =

= B, ecdtransportation1 = B, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001011530, cd.transportation =
B, cd.on_board = 1, cd.balance = 10000, cd.fee
= 1050, cd.Calculated_Balance = 8950,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_001_001

Data Input : ecd.on board = 0, ecd.balance =
10000, ecdTerminal ID = 0, ecdtimel =

200001011111, ecdtime2 = 200001011115,
ecd.c_time = 201002011530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

Calculated DataZl & =X &S

TEAM1_PTS_0_002_000

Data Input : ecd.on board = 0, ecd.balance =
8000, ecdTerminal ID =
200001011115, ecdtime2 =

3, ecdtimel =
200001011111,
ecd.c_time = 200001011530, ecd transportation
= M ecdtransportation1 = M, ecd.count = 4,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001011530, cd.transportation =
B, cd.on_board = 1, cd.balance = 8000, cd.fee
= 0, cd.Calculated_Balance = 8000,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_003_000

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001011115, ecdtime2 = 200001011111,
ecd.c_time = 200001021530, ecd,transportation

cd.time = 200001021530, cd.transportation =
B, cd.on_board = 1, cd.balance = 10000, cd.fee
= 700, cd.Calculated_Balance = 9300,

cd.Terminal_ID = 0, cd.count = 1
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= B, ecdtransportation1 = M, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

TEAM1_PTS_0_003_001

Data Input : ecd.on board = 0, ecd.balance =
10000, ecd.Terminal ID =
200001011115, ecdtime2 =

3, ecdtimel =
200001011111,
ecd.c_time = 200001011530, ecd transportation
= M ecdtransportation1 = M, ecd.count = 5,
etd.transportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001011530, cd.transportation =
B, cd.on_board = 1, cd.balance = 10000, cd.fee
= 700, cd.Calculated_Balance = 9300,

cd.Terminal_ID = 0, cd.count = 1

TEAM1_PTS_0_004_000

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecd.Terminal ID =
200001011115, ecdtime2 =

3 ecdtimel =
200001011111,
ecd.c_time = 200001011530, ecd,transportation
= M ecdtransportation1 = M, ecd.count = 5,
etdtransportation = M, etdTerminal ID = 1,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 1, 10000,
cd.fee = 1050, cd.Calculated_Balance = 8950,

cd.balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_005_000

Data Input : ecd.on board = 0, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001011115, ecdtime2 = 200001011111,
ecd.c_time = 200001011530, ecd transportation
= B, ecdtransportation1 = B, ecd.count = 5,

etd.transportation = M, etdTerminal_ID = 1,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 1, 10000,
10000,

cd.balance =

cdfee = 0, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_006_000

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecd.Terminal ID =
200001011115, ecdtime2 =

3, ecdtimel =
200001011111,
ecd.c_time = 200001021530, ecd,transportation
= B, ecdtransportation] = B, ecdcount = 5,
etdtransportation = M, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001021530, cd.transportation =
M, cd.on_board = 1, 10000,
9300,

cd.balance =
cd.fee = 700, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_006_001

Data Input : ecd.on_board = 0, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001011115, ecdtime2 = 200001011111,
ecd.c_time = 200001011530, ecd,transportation
= B, ecdtransportation1 = B, ecd.count = 5,
etdtransportation = M, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 1, 10000,
9300,

cd.balance =
cd.fee = 700, cd.Calculated_Balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_007_000

Data Input : ecd.on board = 1, ecdbalance =

10000, ecdTerminal ID = 0 ecdtimel

cd.time = 200001011530, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee
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200001011115, ecdtime2 = 200001011111,

ecd.c_time = 200001011530, ecd,transportation

- B, ecdiransportation] = M, ecd.count = 5, | = 0, cd.Calculated_Balance = 10000,

etdtransportation = B, etdTerminalID = 0, cd.Terminal_ID = 0, cd.count = 1

etd.count = 1

Data Input : ecd.on board = 1, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001010100, ecd.time2 = 200001010000,

cd.time = 200001012359, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee

TEAM1_PTS_0_008_000 | ecd.c_time = 200001012359, ecd transportation
= 0, cdCalculated_Balance = 10000,

= B, ecdtransportation1 = M, ecd.count = 5,
cd.Terminal_ID = 0, cd.count = 1
etd.transportation = B, etdTerminal ID = 0,

etd.count = 1

Data Input : ecd.on_board = 1, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001010400, ecdtime2 = 200001010000,
TEAM1_PTS_0_008_001 ecd.c_time = 200001012359, ecd transportation

cd.time = 200001012359, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee
= 100, cd.Calculated_Balance = 9900,
= B, ecdtransportation1 = M, ecd.count = 5,
cd.Terminal_ID = 0, cd.count = 1
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

Data Input : ecd.on_board = 1, ecd.balance =
10000, ecdTerminal ID = 3, ecdtimel =
200001010800, ecdtime2 = 200001010000,
TEAM1_PTS_0_008_002 ecd.c_time = 200001012359, ecd transportation

cd.time = 200001012359, cd.transportation =
B, cd.on_board = 0, cd.balance = 10000, cd.fee
= 200, cd.Calculated_Balance = 9800,
= B, ecdtransportation1 = M, ecd.count = 5,
cd.Terminal_ID = 0, cd.count = 1
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID = 3, ecdtimel =
200001012300, ecdtime2 = 200001010000,

cd.time = 200001012359, cd.transportation =

B, cd.on_board = 0, cd.balance = 10000, cd.fee
TEAM1_PTS_0_008_003 | ecd.c_time = 200001012359, ecd transportation
= 500, cd.Calculated_Balance = 9500,
= B, ecdtransportation1 = M, ecd.count = 5,
cd.Terminal_ID = 0, cd.count = 1
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

Data Input : ecd.on board = 1, ecdbalance =

10000, ecdTerminal ID = 4 ecdtimel =
cd.time = 200001011530, cd.transportation =

M, cd.on_board = 0, cd.balance = 10000,
cd.fee = 0, cd.Calculated_Balance = 10000,

200001011115, ecdtime2 = 200001011111,
TEAM1_PTS_0_009_000 | ecd.c_time = 200001011530, ecd transportation
= M, ecdtransportation1 = M, ecd.count = 5,
cd.Terminal_ID = 3, cd.count = 1
etdtransportation = M, etdTerminal_ID = 3,

etd.count = 1
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TEAM1_PTS_0_009_001

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID = 4 ecdtimel =
200001011115, ecdtime2 = 200001011111,
ecd.c_time = 200001011530, ecd,transportation

= M, ecdtransportation1 = M, ecd.count = 5,
etdtransportation = M, etdTerminal_ID = 2,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 10000,
cd.fee = 400, cd.Calculated_Balance = 9600,

0, cd.balance =

cd.Terminal_ID = 2, cd.count = 1

TEAM1_PTS_0_009_002

Data Input : ecd.on_board = 1, ecd.balance

10000, ecdTerminal ID = 4, ecdtimel =
200001011115, ecdtime2 = 200001011117,
ecd.c_time = 200001011530, ecd transportation
= M, ecdtransportation1 = M, ecd.count = 5,
etdtransportation = M, etdTerminal ID = 1,

etd.count = 1

cd.time = 200001011530, cd.transportation =
M, cd.on_board = 10000,
cd.fee = 600, cd.Calculated_Balance = 9400,

0, cd.balance =

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_010_000

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal D = 1,
200001010100, ecdtime2 =

ecdtimel =
200001010000,
ecd.c_time = 200001012359, ecd transportation
= M, ecdtransportation1 = B, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
10000,
10000,

M, cd.on_board = 0, cd.balance =

cd.fee = 0, cd.Calculated_Balance

cd.Terminal_ID = 1, cd.count = 1

TEAM1_PTS_0_010_001

Data Input : ecd.on_board = 1, ecd.balance =
10000, ecdTerminal ID = 2, ecdtimel =
200001010100, ecdtime2 = 200001010000,
ecd.c_time = 200001012359, ecd,transportation
= M, ecdtransportation1 = B, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
M, cd.on_board = 10000,
cd.fee = 300, cd.Calculated_Balance = 9700,

0, cd.balance =

cd.Terminal_ID = 2, cd.count = 1

TEAM1_PTS_0_010_002

Data Input : ecd.on board = 1, ecdbalance =

10000, ecdTerminal ID = 3, ecdtimel =
200001010100, ecdtime2 = 200001010000,
ecd.c_time = 200001012359, ecd,transportation
= M ecdtransportation] = B, ecd.count = 5,
etdtransportation = B, etdTerminal ID = 0,

etd.count = 1

cd.time = 200001012359, cd.transportation =
M, cd.on_board = 10000,
cd.fee = 600, cd.Calculated_Balance = 9400,

0, cd.balance =

cd.Terminal_ID = 3, cd.count = 1

TEAM1_PTS_0_010_003

Data Input : ecd.on_board = 1, ecd.balance
10000, ecdTerminal ID = 4 ecdtimel =
200001010100, ecdtime2 = 200001010000,
ecd.c_time = 200001012359, ecd transportation
= M ecdtransportation] = B, ecd.count = 5,

etdtransportation = B, etdTerminal ID = 0,

cd.time = 200001012359, cd.transportation =
M, cd.on_board = 10000,
cd.fee = 600, cd.Calculated_Balance = 9400,

0, cd.balance =

cd.Terminal_ID = 4, cd.count = 1
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etd.count = 1
TEAM1_PTS_0_011_000 | Data Input : hour == 0 && minute == Check_Settlement() !4
TEAM1_PTS_0_011_001 Data Input : hour == 0 && minute =0 | wajt() A
TEAM1_PTS_0_011_002 | Data Input : hour != 0 && minute == Wait() AeH
TEAM1_PTS_0_011_003 Data Input : hour != 0 && minute != 0 Wait() At

Data Input : cd.Calculated_Balance = | Terminal_Record(), Print_Result(), Check_Card()
TEAM1_PTS_0_011_004 N

3000 oA

Data Input : cd.Calculated_Balance = N
TEAM1_PTS_0_011_005 Print_Warning() &3

-1000

Data Input : & 2EE[RACt= oMY &
TEAM1_PTS_0_012_000 i rad.reset = 1

Data Input : E4t 2 E(QUCHs oY &
TEAM1_PTS_0_012_001 rad.reset = 0

WA %S

Data Input : cd.time = 201411210500,

TEAM1_PTS_0_013_000

cd.transportation = B, cd.on_board = 1,
cdfee = 500, cd.Terminal ID = 0,

cd.count = 2

pd.time = 201411210500, pd.transportation =

B, pdon_board = 1, pdfee = 500,

pd.Terminal_ID = 0, pd.count = 2

Data Input : cd.time = 201411210530,

cd.transportation = M, cd.on_board = 0,

pd.time = 201411210530, pd.transportation =

TEAM1_PTS_0_013_001 M, pdon_board = 0, pdfee = 500,
cdfee = 500, cd.Terminal ID = 3,
pd.Terminal_ID = 3, pd.count = 1
cd.count = 1
Data  Input cdfee = 100, | fee = 100
TEAM1_PTS_0_014_000
cd.Calculated_Balance = 500 Balance = 500
Data  Input cdfee = 200,
TEAM1_PTS_0_014_001 Display Data ‘4 JE|X| &S
cd.Calculated_Balance = -100
Data  Input cdfee = 250,
TEAM1_PTS_0_015_000 Display Data M4 &|X| %S
cd.Calculated_Balance = 400
Data  Input cdfee = 300,

TEAM1_PTS_0_015_001

cd.Calculated_Balance = -200

TEAM1_PTS_0_016_000

Data Input : cd.time = 201411210500,
cd.transportation = B, cd.on_board = 1,
cd.Calculated_Balance = 0,

cd.Terminal_ID = 0, cd.count = 3;

ucd.time = 201411210500, ucd.transportation

= B, ucd.on_board = 1, ucd.balance= 0,

ucd.Terminal_ID = 0, ucd.count = 3;

TEAM1_PTS_0_016_001

Data Input : cd.time = 201411210500,
cd.transportation = B, cd.on_board = 1,
cd.Calculated_Balance = -1600,

cd.Terminal_ID = 0, cd.count = 3;

Updated Card Data XM T|X| &2
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TEAM1_PTS_1_000_000

time

“201411200000" Input

TEAM1_PTS_1_000_001

time = "201411200100" Input

TEAM1_PTS_1_000_002

time = "201411200008" Input

TEAM1_PTS_1_000_003

time = "201411200108" Input

TEAM1_PTS_1_001_000 Enable Input Hold=true(1) Output
TEAM1_PTS_1_001_001 Disable Input Hold=false(0) Output
trigger ,
Stack ED={

TEAM1_PTS_1_002_000

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200600, B, 1, 1050
201411200800, B, 0, 0 } Input

SF ={
201411200800, 201411200124, 2100, 1400
}Output

TEAM1_PTS_1_002_001

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0O, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300} Input

SF ={
201411200440, 201411200600, 591, 2209
}Output

TEAM1_PTS_1_002_002

trigger ,

Stack ED={

201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0
201411201448, B, 0, 200} Input

SF ={
201411201448, 201411200600, 976, 574
}Output

TEAM1_PTS_1_002_003

trigger ,

Stack ED={ 201411200016, M, 1, 1050
201411200040, M, 0, 200
201411200232, B, 1, 0

201411201224, B, 0, 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0

201411201824, B, 0, 200} Input

SF ={
201411201824, 201411201408, 1042, 1408
}Output

trigger ,
Stack ED={
201411200016, B, 1, 1050

SF ={
201411200216, B, 0,0
TEAM1_PTS_1_002_004 201411200640, NULL, 3150, NULL
201411200616, B, 1, 1050
}Output
201411200624, B, 0, 0
201411200632, B, 1, 1050
201411200640, B, 0, O} Input
TEAM1_PTS_1_002_005 trigger , SF = {
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Stack ED={

201411200016, M, 1, 1050
201411200216, M, 0,0
201411200616, M, 1, 1050
201411200624, M, 0, 0
201411200632, M, 1, 1050
201411200640, M, 0O, 0} Input

NULL, 201411200640, NULL, 3150
}Output

TEAM1_PTS_1_002_006

trigger ,

Stack ED={

201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0} Input

SF ={
201411200440, 201411200504, 1050, 1450
}Output

TEAM1_PTS_1_002_007

trigger ,

Stack ED={

201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0} Input

SF ={
201411200640, 201411200600, 591, 759
}Output

TEAM1_PTS_1_002_008

trigger ,

Stack ED={

201411200016, M, 1, 1050
201411200040, M, 0, 200
201411200232, B, 1,0
201411201224, B, 0 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0} Input

SF ={
201411201416, 201411201408, 907, 1143
}Output

TEAM1_PTS_1_002_009

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, B, 0, 0} Input

SF ={
201411201030, 201411201010, 1750, 1050
}Output

TEAM1_PTS_1_002_010

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, M, 0O, 0} Input

SF ={
201411201020, 201411201040, 1750, 2800
}Output

TEAM1_PTS_1_002_011

trigger ,

Stack ED={

201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, B, 1, 1750
201411201050, B, 0, 0 } Input

SF ={
201411201050, 201411201030, 3500, 2800
}Output

TEAM1_PTS_1_002_012

trigger ,
Stack ED={
201411201010, M, 1, 1050

SF = {
201411201030, 201411201058, 1157, 1943
}Output
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20141120
20141120

1020, B, 1, 1750
1030, B, 0, 0

201411201050, M, 1, 0
201411201058, M, 0, 300} Input

TEAM1_PTS_1_002_013

trigger ,

Stack ED=
201411201010, M, 1, 1050
201411201020, B, 1, 1750
201411201030, M, 1, 1750
201411201040, M, 0, 300
201411201100, B, 1, 0
201411201130, B, 0, 0} Input

{

SF ={
201411201130, 201411201040, 2444, 2406
}Output

TEAM1_PTS_1_002_014

trigger ,

Stack ED=
201411201000, M, 1, 1050
201411201030, M, 0, 400
201411201100, B, 1, 0
201411201200, M, 1, 1750} Input

{

SF ={
201411201100, 201411201200, 609, 2591
}Output

8.2 Test items
<Table 5 : Test Design

8.3 Input specifications

Identification> X=X

<Table 6 : Test Case Identification> &=

8.4 Output specifications

<Table 6 : Test Case Identification> &=

9 Testing tasks

10 Environmental needs

CHE RS A|ABI(PTS : Public Transportation System)2| Unit TestE I8t 2H4& QAR CHSat Z

11

<Table 7 : Testing tasks & Schedule>

(1) Hardware & Platform, Cygwin

(2) CTIP(Continuous Testing & Integration Platform) Environment

Unit Test deliverables
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12 Schedules

<Table 7 : Testing tasks & Schedule> &tZ&
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